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PUBLIC FINANCE

Option–(ii)

Semester–VI

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all, Question No. one

and two is compulsory. Attempt remaining three

questions selecting one question each from any

of the three units out of the four units. All

questions carry equal marks.

dqy ik¡p iz'u dhft,A iz'u la[;k ,d ,oa nks

vfuok;Z gSaA nh xbZ pkj bdkb;ksa ls fdUgha rhu

bdkb;kas esa ls ,d&,d iz'u pqurs gq, 'ks"k rhu iz'u

dhft,A lHkh iz'uksa ds vad leku gSaA

1. After playing in the park, Manoj and Rohit went to a

shop near by for purchasing water. There was only

one bottle of water in the shop and both of them

wanted to buy it.
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On this basis, answer the following questions :

Questions :

(a) Which type of goods are park and water ? Define

the both type of goods.

(b) Differentiate between both types of goods.

(c) Give another example of both type of goods.

(d) Also define two another types of goods in between

these two goods (or similar to these goods). 16

eukst vkSj jksfgr nksuksa ikdZ esa [ksyus ds ckn] ikl gh

dh ,d nqdku esa ikuh dh cksry ysus tkrs gSaA nqdku esa

ikuh dh ,d gh cksry gS vkSj nksuksa mls [kjhnuk pkgrs

gSaA

mijksDr fLFkfr vè;;u ds vk/kj ij fuEufyf[kr iz'uksa ds

mÙkj nhft,%

(a) ikdZ vkSj ikuh dh cksry fdl izdkj dh oLrq,¡ gSa\

nksuksa izdkj dh oLrqvksa dks ifjHkkf"kr dhft,A

(b) nksuksa izdkj dh oLrqvksa esa vUrj crkb,A

(c) nksuksa izdkj dh oLrqvksa ds vkSj mnkgj.k nhft,A



(d) nksuksa izdkj dh oLrqvksa ls feyrh vkSj Hkh oLrq,¡ gksrh
gaS] mUgsa crkb, o ifjHkkf"kr dhft,A

2. (a) Choose the correct alternative of the

following : 5×1=5

fuEufyf[kr esa ls lgh fodYi dk p;u dhft,%

(i) Which of the following is a characteristic of

Revenue expenditure ?

(a) It creates Assets for government

(b) No Assets are created for the

government

(c) It causes reduction in govt. Liabilities

(d) None of these.

fuEufyf[kr esa ls dkSu&lh jktLo O;; dh fo'ks"krk
gS\

(a) blds }kjk ljdkj dh ifjlaifÙk dk l`tu
gksrk gS

(b) ljdkj ds fy, fdlh ifjlaifÙk dk l`tu
ugha gksrk gS

(c) blds }kjk ljdkj dh ns;rk esa deh gksrh gS

(d) buesa ls dksbZ Hkh ughaA
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(ii) Which of the following are the Capital

receipts of the government ?

(a) Recovery of Loans

(b) Borrowings and other Liabilities

(c) Disinvestment

(d) All of these.

fuEufyf[kr esa ljdkj dh iwathxr izkfIr;k¡ dkSu&lh

gSa\

(a) Í.kksa dh olwyh

(b) m/kj o vU; ns;rk,¡

(c) fofuos'k

(d) mijksDr lHkhA

(iii) Income elasticity of demand among the rich

people is :

(a) Zero

(b) Unity

(c) More than unity

(d) Less than unity.
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/uh O;fDr;ksa dh ekax dh vk; yksp gksrh

gS %

(a) 'kwU;

(b) ,d

(c) bdkbZ ls vf/d

(d) bdkbZ ls deA

(iv) The concept of Formal incidence was

developed by :

(a) H. Dalton

(b) Seligman

(c) U. Hicks

(d) None of these.

vkSipkfjd djkikr dh /kj.k dk izfriknu fd;k

Fkk %

(a) ,p- MkYVu

(b) lsfyxeSu

(c) ;w- fgDl

(d) dksbZ Hkh ughaA
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(v) Which of the following is a method to

measure Public debt ?

(a) Income-debt ratio

(b) Debt-service ratio

(c) Interest-revenue ratio

(d) All of these.

fuEufyf[kr esa ls dkSu lh lkoZtfud Í.k dks

ekius dh fof/ gS\

(a) vk;&Í.k vuqikr

(b) Í.k&Hkqxrku vuqikr

(c) C;kt&vk; vuqikr

(d) mijksDr lHkhA

(b) Match  the  following  with  their  correct

answer: 5

(i) NBFCs (a) Excludes interest

payments

(ii) Primary deficit (b) Not on Petrol

(iii) GST (c) Transferable

expenditure
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(iv) Definicing in (d) An internal

aggregate demand source of Public

debt

(v) Scholarships (d) A cause of

Unemployment

in developed

countries.

fuEufyf[kr dk muds lgh mÙkj ls feyku dhft,%

(i) NBFCs (a) C;kt&Hkqxrku jfgr

gksrk gS

(ii) izkFkfed ?kkVk (b) isVªksy ugha

(iii) GST (c) gLrkarj.k O;;

(iv) dqy ekax esa (d) lkoZtfud Í.ksa dk
deh ,d vkarfjd Ïksr

(v) othiQkA (e) fodflr vFkZO;oLFkkvksa
esa ,d csjkstxkjh dk
dkj.kA

(c) Answer the following questions : 3×2

(i) Define Deficit financing.

(ii) Differentiate between incidence and impact

of Taxation.
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fuEufyf[kr iz'uksa ds mÙkj nhft,%

(i) ?kkVs dh foÙk O;oLFkk dks ifjHkkf"kr dhft,A

(ii) djkikr vkSj djk?kkr esa vUrj crkb,A

UNIT–I  (bdkbZ–I)

3. What is Public Finance ? Explain its scope and

importance. 16

lkoZtfud foÙk D;k gS\ blds {ks=k vkSj egÙo dk o.kZu
dhft,A

4. Explain the principle of maximum Social advantage.

What are its limitations? 16

vf/dre lkekftd ykHk fl¼kUr dk o.kZu dhft,A bldh
D;k lhek,¡ gSa\

UNIT–II  (bdkbZ–II)

5. Define Public Expenditure. Explain the growth of

Public expenditure in India. 16

lkoZtfud O;; dks ifjHkkf"kr dhft,A Hkkjr esa lkoZtfud
O;; c<+us ds dkj.k crkb,A

6. What are the various kinds of Public Expenditure ?

Explain the effects of Public expenditure in an

economy. 16
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lkoZtfud O;; ds fofHkUu izdkjksa dh O;k[;k dhft,A vFkZO;kLFkk esa

lkoZtfud O;; ds iM+us okys izHkkoksa dks Hkh crkb,A

UNIT–III  (bdkbZ–III)

7. What is a Tax ? What are its kinds ? Explain the

various causes of Taxation. 16

dj fdls dgrs gSa\ blds fdrus izdkj gSa\ dj iz.kkyh ds

fofHkUu fl¼kUrksa dh O;k[;k dhft,A

8. Distinguish between the Direct and Indirect Taxes.

Also write a note on GST. 16

izR;{k vkSj vizR;{k djksa esa vUrj crkb,A GST ij ,d

uksV Hkh fyf[k,A

UNIT–IV  (bdkbZ–IV)

9. Discuss the types, role and burden of Public debt. 16

lkoZtfud Í.k ds izdkjksa] Hkwfedk o Hkkj dh O;k[;k

dhft,A

10. What is Fiscal policy ? Explain the main instruments

of Fiscal policy. 16

jktdks"kh; uhfr fdls dgrs gSa\ jktdks"kh; uhfr ds izeq[k

midj.kksa ds ckjs esa crkb,A
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